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SM2H Geometry Review

1. What is the standard equation of a circle?
2
(x-h)*+ (r-\’—) =
Write the equation for the following circles.

2. center (6.-2) 3. center (-5.0) 4. center (=1.1)
radius 4 radius 2 radius 5

(O e b (=Y O =S

Complete the square to identify the center and radius of the circle.

5. x*+6x+y’ —8y-11=0 x2rux +9 +y 2_8yt+le = I\+°H'”°

center_('_quS £K+E)L gl ¢ y—"b
radius __ _(_a_

6. X' -2x+y +6y+6=0 XZ-ZX +1 '}"‘IZ fb\f'l'q : o4 +9
center___C\;i) CX_DL + c\).‘.g)z": L*
radius___.z_._

7. x>+’ -10y=24

| X% + yz_loqﬁ,s =24 +2S
center_LQJQ x'z_ A+ C Y _sbj,: qq
radiusl__

8. How are inscribed angles related to their intercepted arcs?

Tnscribed angles are hal@ Hheir indevceptad aves .

9. What is the relationship between the opposite angles of an inscribed quadrilateral?

SR
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nd the measure of the indicated arc or angle.

10. 11.

142#

Fooy =122

Q‘

x=71"

14.

1IIII

= A0 = 4p'
nt b= 000065 =55" _ . =180 ”?'33
19. What is the ﬁgrmula used to find arc length? X-"lﬁ'?- - 80 x:qz

Avc Lemph = 3_‘2“;. Rl

i th of each described arc. Leave your answers in terms of m.
Find the length of y

mABC 21. mABC
. . z;'n"-lq S?bﬂ
L7022
- = 5@.:) = \8UTCM z\'ﬂ'g.
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r=8m 8 =285

24 What is the tormula ded to find the area of 4 secton
2
_.._3? ., Y
Find the area of each described or shaded sector. Leave vour answers in terms of
25.

Al

w Y

/
1 vd

228 qrai_ 2masw _BS w77_ peSTT _ Wl
300 — 1\ 7 360 360 | 260

ST T

S

27. r= t."- :-m' # = 55° 28. r=13in, 8 = 210°

o o” tqso'n' WIT a2 20 v, gF _ 349071 _ue3w
'J . 26D ...--'".;"" - 360 "'_T_

in®
Use similar triangles to solve the following problems. Round your answers to the nearest
tenth.

|

29. A 5-ft tall person casts a sfadow that is 12-ft long. A nearby tree casts a shadow that is 30-ft
long. How tall is the tree?

30. A building casts a 103-foot shadow at the same time that a 32-toot Nagpole casts as 34.5-foot
shadow. How tall is the building?

03
32 34.5
-X 3q Ex = 224L

TS RS
X=495.54%

‘3ns
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d the missing length indicated.

31. Find XZ

<. Find Q8 \
W, et
SO esaem
R e -\g
33. Find AB 34. Find MN
JI
. J,—f’? 'H
-;i__}_/’ \ M /
e *
R "'/T% fﬁ / = E \./ + / .\

B ¢ A‘B:Z—LH-Z':‘.L MN =4=2=2
Solve for x. Show your work!
35. 36.

>
A .
_’_,Jg-""— Ix-6
= -
X412
D X+ 35 4 )
, Qg.-?D s 2(2x-0) = x+\2
2¢-4 = X+S Ax=11= Zxis

x=9 ey ) zx:z'@cza

37. Given a segment with endpoints 4(—8.3) and B(12.3), find the coordinates of point C between A

(4,3)

. AC 3 .
and B so that the ratio s ==. Plot the points to help solve the problem.

, Becfer  ABZ20

w
C_L/ ZAt=3cR
A.._ I%E 3

SEDTRREE S &' 5 . 292 = 2@
St | 24 = 24
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3 Plot the points to help solve the problem.

-10 -

=1

39. Find sin@, cosf, and tan#. Give answers as simplified fractions

sind =
-

cosi?:_F- -
N O
, K

EML\) tan@ =

s
\

\

5l

oyt

o\e

1

Sl e

Find the value of the trigonometric function indicated, given the following information

2
5 : T oopeiscin 7224z Xk
40. If sin@=—, whatis cos&? PR 3 41. If tan# = —, what is sin6?

17 gx-=L7 24

b2s =x*-
257 %

ARNE
43. If sin(60°) = T , find cos(30°).

5o \- 00530..1"

I
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4. Atpersnn is 75 feet from the base of a barn. The angle formed from the person to the top of the
arn is 60°. How tall is the barn?

| 3 - . _
: X 75¥% F+. | o&[[29.90 ¢
% (00 \ _Zq L.

75 he o
45. As it leans against a builging, a 9-meter ladder makes an angle of 55° with the gmuad.

a. How far is the bottom of the ladder from the base of the building? M 5

CSSSF L =acesSS X adj.
X= S.llom

b. How far up the building does the ladder reach?

sns S=_ Y )
q

= 7.37 Z

Y= QsinsS

ainst a building. The top of the ladder touches the building

46. A 15-foot-long ladder is propped ag
at a point that is 13 feet above the ground. What angle does the ladder make with the ground?

2 139 <y o213
\S

5 -l 13

p= S0 (=

lg: 007"

p——
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